Loop Cards – solving 1 step equations

	1
x = 31



x + 4 = 6
	2
x = 13



x – 5 = 19
	3
x = 8



x – 9 = 1
	4
x = 30



[bookmark: _GoBack]x + 4 = 35
	5
x = 18



x + 10 = 19

	6
x = 7



x -10 = 15
	7
x = 20



x + 74 = 100
	8
x = 2



x – 7 = 10
	9
x = 10



4 + x = 15
	10
x = 24



x + 4 = 23

	11
x = 21



2x + 1 = 3
	12
x = 1



3x = 12
	13
x = 11



20 – x = 5
	14
x = 25



8x = 64
	15
x = 14



x + 7 = 28

	16
x = 4



2x + 2 = 8
	17
x = 28



x + 14 = 27
	18
x = 5



	19
x = 6



10x = 70
	20
x = 19



x + 15 = 45

	21
x = 26



	22
x = 17



36 = 2x
	23
x = 15



x + 7 = 27
	24
x = 3



6x = 30
	25
x = 9






Loop Card Answers
The loop goes in the following order starting from any number.
1
8
22
5
25
15
11
12
16
24
18
19
6
14
3
9
13
23
7
21
17
2
10
20
4
1



